000599-001

Page 6-6 2008 Transporter 4 and 6 Gasoline and Electric Vehicle lllustrated Parts List



HEADLIGHT AND HORN ELECTRICAL COMPONENTS

ITEM PART NO. DESCRIPTION QTY
1 2 3 4
1 1011229 LOCKNUL, #6-32 WHIZ ...eviiieiiiiiiiee ettt e e et e e e 3
2 1013357 Rivet, 5/32 AlUMINUM POP ..vviiiiiiieeceie e e e e e e e e nre e e e e e e 2
3 1015720 | Screw, #6-32 X 1/2 Hex Washer-Head ..........cccoocoeeiiiiiiiiiiii e 1
4 1016356 Terminal Block With INSUIALOL ...........uiiiiiiiiie e 1
5 N/A Headlight Instl-gas Golf (includes items 6 through 14) ......cccccceeiiiiiiiiiiiiieeeeeeen, 1
6 1010909 Screw, #10-32 X 1.25 Rd HA MCh ....oooiiiiiiiiii e 1
7 1016 Washer, #10 SPlit LOCK ......cooiiiiiiiiiieeee e 1
8 1017721 [T 1] (=T PR o] = Vo [ SRR 1
9 102869401 YY) (ol TR = Lo o] = P I o o | P 1
10 103255601 Wire Harness, Hd Lght, Ca, GaAs .........cceiiiiiiiiiiiiiiiiieiieeee et ee e e 1
11 183 Washer, #10 Type A Flat ... e e e e 1
12 7473 Locknut, 5/16-18 NYION INSEIT ... 1
13 7893 NUL, #10-32 HEX 1oiiiiiiiie ettt ettt et e et e e e et e e e e e tbe e e e e e ssbeee e s ennees 1
14 8990 Tie Wrap, 8" NYION ...ooviiiii it e e e e st e e e e e e e e e e s s nnnes 12
15 1017853 Screw, #6-32 X 0.75 Hex-Head Machine ..........cccccceviiiiiiiiiiiee e 2
16 101914401 | Assembly, VOItage SUPPIESSOF ........uueiiiiiiiiaaiiiiiiiiiieiee e e e e e e e e e e ee e e e e e e s e annenes 1
17 102199001 =] N Y Lo | P 1
18 304 Screw, 1/4-20 X 1.0 Hex-Head Cap .......ccccccirimiiiiiee et ee e 2
19 332 | Washer, 1/4 Type A Narrow FIat ..o 2
20 4029 Horn (includes items 21 through 25) .......uuuiiiiiiiie i 1
21 1011825 HOIN BIACKEL ..eeeiiiiiiiiee ettt e et e 1
22 N/A L (o T TR 5 Y T PRSP 1
23 101955101 UL, IMB HEX ettt et e bbb e e e e 1
24 7820 Washer, 5/16 Internal-TOOt ..........cooiiiiiiiiiii e 1
25 N/A 5716 RING TOIM. ettt ettt e et e e e e e e e e eb b e e e e e e e aaeeeaaeannns 1
26 7591 | WASKHET, #6 FIal ....oooiiiiiiii e 2
27 8233 Locknut, 1/4-20 NYION INSEIT ...ccovveieiiiiie e are e e e e e e 2
2008 Transporter 4 and 6 Gasoline and Electric Vehicle lllustrated Parts List Page 6-7




